Obtain the Y matrix for the above equivalent circuit (rn-shape
circuit).
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Consider a transmission line with the length | = 1km. First we
short-circuited the end and measured the impedance from the
signal source and obtained 0.61 2. Next we opened the end and
measured the admittance from the signal source and obtained
4x107i S.

What is the characteristic impedance of the transmission line?
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Remember F-matrix (cascade matrix) defined above.

Write down the F-matrix form of the transmission line

shown below.
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